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Fitted line Yy  With Y the dependent
variable. . A
In particular, ¥ # exp(logY)

Notations ) # IB

Rules for exp and In/log

Interpretation in the multiple regression
holding the other variables constant

Interpretation of logarithmic and
semilogarithmic models (elasticity, effect of
expl. Var.)




Loglinear model Fit vs Linear model fit
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Box-cox transformation
We want to compare the following models:
((1) In(Y,) = 181 +132Xi T U,
<\(2) Y=0,+a,X. +v,

l

We fit models (1) and (2) by OLS and obtain:

(1) 1A(Y)=b,+b,X ,RSS,, R

(2) Y =¢ +c,X,,RSS,,R;

We can not compare directly RSS1 and RSS2 because they do not have the same
unit. In our case, Y is in $/hour while In(Y) has not the same unit :

Ln(Y) is measured in “In($/hour)”

The residuals have the same units as the dependent variables which are different
between model (1) and model (2). The same holds for the RSSs, we can not
compare them directly!!



